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aictest =
data.frame(Y=c(44,47,41,49,56,41,58,47
,60,57),X1=c(39,47,53,45,48,48,61,47,4
9,64),X2=c(52,49,41,37,56,50,63,47,56,
50),X3=c(42,47,41,53,54,41,47,59,61,54
),X4=c(41,55,60,48,45,45,47,50,49,48))

> aictest

R

LN L D G

-] O

0

b TR e R

L)

alc
aictest

R Console E=REEE ™
P

test = data.frame (¥Y=c(44,47,41,49,56,41,58,47,6e05

LS

T X1 X2 X3 X4
44 3% 52 42 41
47 47 49 47 55
41 53 41 41 &0
49 45 37 53 48
56 48 56 54 45
41 48 =0 41 4%
58 €61 63 47 47
47 47 47 59 50
60 49 56 61 49
57 64 50 54 48
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— cor (aictest)

=] R Console E=n el ="
| A
>
>
> cor(aictest)
Y X1 X2 X3 X4
Y 1.0000000 0.5060461 0.6061103 0.68649109 -0.235759815
X1 0.5060461 1.0000000 0.3046478 0.10165087 0.23674483
X2 0.6061103 0.3046478 1.0000000 0.1070956B -0.44415138
X3 0.6864911 0.101650% 0.1070957 1.00000000 -0.0708B075
X4 -0.2357591 0.2367448 -0.4441514 -0.07088075 1.00000000
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OMASS)\wo—2% 14> A =)L
— install.packages(“MASS")
— library(MASS)

O X1~X4%Z5REZZE UC. Ell)sEoth
— result = Im(Y ~ X1+X2+X3+X4,
data=aictest)

O AICICE DK ZZUEIR
— result2 = stepAIC(result)

R R Console
|

> result2 = stepAIC({result)
Start: ATIC=29_39
Y ~ X1 + X2 + X3 + X4

DE S £s RSS ATC < X47b§fd:('\i%éo)A|C
w1 e= 3.233 s X47§§%%)i,z—éo)A|C

<nonex 69.531 25.392
- X1 1 41.797 111.328 32.099
- X2 1: 43.966 113.497 32.252
- X3 1 165.279 234 _.B610 39.56&2

Step: AIC=27.85
Y ~ X1 + X2 + X3

pf sum of sg R5S ATc —<C— ﬁqko)AlCiﬁ_%

<none> 72.763 27.846 é; \ 3

- 1 39.909 112.673 30.219 IJ\ (' @TX].,XZ,X?)
- X2 1 f4.007 156.770 33.522 §E hd ﬁn

=3 1 168.982 241.746 37.853 75 Eiﬁ *
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— LeanBayes bayesmZz-1 > X k—JL

R &8 - RIT%

install.packages ("LearnBayes")

install.packages ("bayesm")

library(LearnBayes)
library(bayesm)

data (birdextinct)
head (birdextinct)

BN EOR 5

— birdextinct (RO#&ERFE
« Species: BDTEE
e time : FIiERHERES
e nesting: DHV\DFEITER
e« status:DIEOEMNESH

|R

+ head (birdextinct)

R Console

zpecies time nesting =size status

030
.464

Sparrowhawk
Buzzard
FKeatrel 4.088

Peregrine 1.681
Grey partridge 8.830
Quail 1.493
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O>—45%=BA893
— birdextinctZz DatalZ{t A

| )
R 58 - RIFH |- eS] |
for(i in l:nrowi({birdextinct)) { L
¥ = logtime[i]

iota=c(rep(l,length(vy)))

X = aa.matrix (cbind (iota,birdextinet[i,3:5]))
regdata[[i]] = list (X=X, yv=V)

Data = list (regdata=regdata)

OMCMCIC KD/ NS A —FHETE
— R : MCMCDi#& DR UHETEER

R 5 - RIT/Y || B | S
R

result = fhiaxlinea:Mcdel{Data*Data,Hcmc=HcmcH
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OMCMCTESINIE., E1EEIR
DR (LE) =23~

O plot(result$betadraw)

HUyHETR( ENTER 353 EROA—IHENES E=5E=E =

Coefficients on Var 2
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e m— b

O1&E 4% DILEZ—4 (betadraw)(CD
LWTC. &5TL. T2k D

R E8 - RI7¥ =0 EC |

beta = data.frame ()

for (i in l:nrow(birdextinctc)){

tmp = rowMeans (result$betadraw(i,,=seq(2000,10000)])
beta = rbind(beta,tmp)

3|

colnames (beta) = c("1I",colnames (birdextinct) [3:5])

R Console o= ]

4

| . A

> head (beta)

I nescing 31ze Status
1 0.4153440 0.2805352 -0.6754855 0.4578135
2 0.4643504 0.3153973 -0.7065854 0.5153436
3 0.4731368 0.2874442 -0.7010379 0.5151003
4 0.2850210 0.2565550 -0.6135515 0.2820504
5 0.4328852 0.2546172 -0.6611920 0.4704025
6 0.3067254 0.2518802 -0.6417374 0.5438449
> apply(beta, 2, mean)

I nesting zize status

0.4307494 0.2794342 -0.6759149 0.4801149

-2
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Ox>—5%E5/LICER (RAHE
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R 8 - RITH e
pred.blm = c()
for (i in 1:nrow(birdextinct))({

pred.blm = c(pred.blm, sum(beta[i,] * cbind(1,birdextinct[i,3:5])))

OXAEESET)LZ2T0OY b
— plot(logtime,pred.blm,xlim=c(0,4),
ylim=c(0,4),xlab="5=Al{E", ylab="
EFRE")

R Graphics: Device 2 (ACTIVE) == Ecl =

— par(new=T) i
— abline(0,1) : _
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http://www.jpma.or.jp/information/evaluation/allotment/winbugs.html
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